
1.0 𝑝: 𝑦 = 𝑎𝑥ଶ + 𝑏𝑥 + 2,75  mit 𝑃(5| − 1) und 𝑄(−2|0,75)  

𝑔: 𝑦 = −0,5𝑥 + 5 

1.1 𝑃 in 𝑝:  −1 = 𝑎 ∙ 5ଶ + 𝑏 ∙ 5 + 2,75 

   −1 = 25𝑎 + 5𝑏 + 2,75   | − 25𝑎 − 2,75  

          −25𝑎 − 3,75 = 5𝑏     |: 5 

            −5𝑎 − 0,75 = 𝑏 

𝑄 und 𝑏 in 𝑝:  0,75 = 𝑎 ∙ (−2)ଶ + (−5𝑎 − 0,75) ∙ (−2) + 2,75 

   0,75 = 4𝑎 + 10𝑎 + 1,5 + 2,75  

   0,75 = 14𝑎 + 4,25   | − 4,25  

              −3,5 = 14𝑎    |: 14 

            −0,25 = 𝑎 

−5 ∙ (−0,25) − 0,75 = 𝑏 

 1,25 − 0,75 = 𝑏 

   0,5 = 𝑏 

𝑝: 𝑦 = −0,25𝑥ଶ + 0,5𝑥 + 2,75 

 

 

 

1.2 Einzeichnen des Dreiecks 𝐴ଵ𝐵𝐶ଵ. 



1.3 𝐴௡𝐶௡
തതതതതതത(𝑥) = [−0,5𝑥 + 5 − (−0,25𝑥ଶ + 0,5𝑥 + 2,75)] 𝐿𝐸 

𝐴௡𝐶௡
തതതതതതത(𝑥) = (−0,5𝑥 + 5 + 0,25𝑥ଶ − 0,5𝑥 − 2,75) 𝐿𝐸 

𝐴௡𝐶௡
തതതതതതത(𝑥) = (0,25𝑥ଶ − 𝑥 + 2,25) 𝐿𝐸 

 

1.4 𝐴(𝑥) = 0,5 ∙  𝑔  ∙ ℎ 

𝐴(𝑥) = 0,5 ∙ (0,25𝑥ଶ − 𝑥 + 2,25) 𝐿𝐸 ∙ (4 − 𝑥) 𝐿𝐸 

𝐴(𝑥) = (0,125𝑥ଶ − 0,5𝑥 + 1,125) 𝐿𝐸 ∙ (4 − 𝑥) 𝐿𝐸 

𝐴(𝑥) = (0,5𝑥ଶ − 2𝑥 + 4,5 − 0,125𝑥ଷ + 0,5𝑥ଶ − 1,125𝑥) 𝐹𝐸  

𝐴(𝑥) = (−0,125𝑥ଷ + 𝑥ଶ − 3,125𝑥 + 4,5) 𝐹𝐸 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 


